afmetingen: 4.1 mx 2.6 m (B x H) (=75% glas + 25% aluminium)

randeffect = 0.080 W/mK

randeffect = 0.039 W/mK

Ug = 1.1 W/mK Uw = 1.701 W/m?K Uw = 1.639 W/m*K
Ug = 0.8 W/m*K Uw = 1.476 W/m?K Uw = 1.414 W/m?K
Ug = 0.5 Wm*K Uw = 1.251 W/m?K Uw = 1.189 W/m*K

randeffect = 0.080 W/mK

afmetingen: 4.1 mx 2.6 m (B x H) (=75% glas + 25% aluminium)

randeffect = 0.039 W/mK

Ug = 1.1 W/m>K

Uw = 1.582 W/m?K

Uw = 1.520 W/m?K

Ug = 0.8 W/m?K

Uw = 1.355 W/m3K

Uw = 1.293 W/m?K

Ug = 0.5 W/m?K

Uw = 1.130 W/m?K

Uw = 1.068 W/m?K



